AR Series

AR Axial piston pump

AR series axial piston pump

>

1.Small and light design,space saving.
2.Special alloy material,power saving,low noise,long life.
3.Easy to assemble,exquisite appearance ang light weight.

4.Application for NC lathe,MC machine,bending machine,punch
hydraulic press,high efficiency machine.

dwnd uojsid |eixy MV

nominal pressure:165 bar
max. pressure:210 bar
single operation period: 210bar /6ms

Quick reference data chart

Displacement Pump Delivery (7 bar) 100 PSI | Pressure Adj Range Speed Weight

Size | Model omgrev | ntrey | 1500 RPM 1800 RPM B C Max. | Min. | KG
LPM us.GPM| LPM wus.GPM| bar(Mpa) | bar(Mpa) | RPM | RPM | (LB)

ARS8 8.0 0.48 12 3.17 14.4 3.8

AR10 | 100 | 061 | 15 | 39 18 | 4.76
12~70 | 12~210 ' 4800 | 500 | 9(19.84)
AR12 120 | 073 | 18 | 476 | 216 573 | (12~7) | (1.2~21)

AR16 | 15.8 | 0.96 23.7 | 6.26 2844 | 7.51

g~ WIN| -

AR22 | 222 | 1.35 33.3 8.8 39.96 | 10.56

1.Installation outlet port top, the pipe bave to less than 2 bar.

2.The use of max. pressure override 6 minunt, hydraulic oil clean that see General Installation Infomation.
3.YEOSHE offer tandem pumps, and other pumps connection, the connection type use Metric version and
SAE version dimensions.

www.yeoshehydraulic.com



Type code for standard program %

| felFlrlo]c]s]elol B |
1 2 3 4 5 6 7 8 9 10 1 12

Series Size and  Mounting Rotation Control Pressure Port Shaft Threads Voltage Seals Design No.
displacement device adjusting position type code
Series
L nominal pressure  max. pressure  single operation period
1 Axial piston pum AR
PISIONPUMP " 165 par 210 bar 210bar /6ms
Size and displacement
Code 8 10 12 16 22

, Size 1 2 3 4 5

cm’/rev 8.0 10.0 12.0 15.8 222

Displacement 4 ey 048 0.61 0.73 0.96 1.35 In'=16.378 om

dwnd uoisid jeixy MV a

Mounting
Flange mtg
Foot mtg L

Rotation
D clockwise
(. counter clockwise L

Control type

Standard pressure control 01
Remote pressure control G
Pressure
Load-sensing control Low : 7KG HLL]
Mid : 14KG
High : 21KG
2-stage pressure & Flow control C
2-stage pressure & Flow control + Remote CG
2-stage pressure & Flow control + Low tension unloading CR
5 Low tension unloading + Pressure control + Remote D
Low tension unloading + Pressure control + Remote DG
Electric 2-stage pressure control E
Electric 2-stage pressure control + Remote EG
Electric 2-stage pressure & Flow control F
Electric 2-stage pressure & Flow control + Remote FG
Remote pressure compensator with NG6 interface GM
Remote pressure compensator + Proportional pressure valve GJ

www.yeoshehydraulic.com




AR Series

Type code for standard program YELOSHE
I A N S N S K - N

Series Size and  Mounting Rotation Control Pressure Port Shaft Threads Voltage Seals Design No.
displacement device adjusting position type code

Control type

Remote pressure compensator + Electrical unloading GR
Remote pressure compensator + 2-stage pressure control GB
; Remote pressure compensator + Electrical unloading + 2-stage pressure control GC
None pressure compensator (fixed displacement) (pressure protection required) LN
Electrical 2-stages flow compensator LS
Fixed displacement 2 stage flow compensator (pressure protection required) LC

dwnd uojsid |eixy MV ﬂ

Pressure adjusting
2~70 bar 12~7 Mpa B
12~210 bar 1.2 ~21 Mpa C

Port position
None: Axial Port

7 Side Port S
Outlet flange type F
Shaft type
Key K
8 Splind shaft 13T 16 / 32 DP G
Splind shaft 9T 16 / 32 DP T
Threads type
PT(RC) 10 %
9 BSPP (G) 40
NPT 50
Voltage
None Y PS
AC100V (50/60HZ) A
AC110V (60HZ) B
10 AC200V (50/60HZ) C
AC220V (60HZ) D
DC 12V E
DC 24V F
Seals
» NBR N
VITON Vv

% standard type

Copyright@2015-YEOSHE-ALL RIGHT RESERVED.



A

dwnd uojsid |eixy MV

AR Series

Diagrams
Speed: 1800 r/min Hydraulic oil: 1ISO VG32 Oil temperature: 50°C
AR16 type
€
£z
AR16 @ 1800 RPM sz 5 Noise level
2 2 80
< 100 — e ——— < 8
< vol| efficiency \ 2 =
T 90 s 3
g 80 | g =
g over all efficiency <70
e o ] T 8
> ~
- 60 ———— 30 1R = full flow P
= [) i ' 8
S s output flgw R 140 3 . o7 7] \ Lo
5 | g O % “ o | o ¢
S 40 20 -8 @ \ °®
? 30 /1 -6 2 {
kS et |1 \ - full cyt-off
8 2 s 0 4 A 50 —@
b} 0P
f 10 —42
%0 (4518) (8186) (11222) (11663) °° 40
: : 0 4 8 12 16
—> Pressure MPa(bar) (40.8) (81.6) (122) (163)
—> Pressure MPa(bar)
Input power Case drain flows
10 1.5
<
5 P=MPa(kgf/cm?) E =150
s 8 = full cut-off
=< — T P=14(143) =
o] 3 — —
g — P=12(122) =10 = ®
Z s £ N=1500rpm
a —1 P=10(102) g
é_ 4 1 P=8(81.6) ﬂé
= /T P=6(61.2) O s
ﬁ ) A P=4(40.8) ﬁ ead
1T 1 lp=2204)  power|at deadg 1200
0 1T ——1P=0.7(7.1) input P e e
0 5 10 15 20 25 30 05 T s 1 16
(85) (70) (105) (140) (175) (210) (40.8) (81.8)  (122) (163)
—»Output flow (1/min) —>» Pressure MPa(bar)
Test condition:

The noise of the single pump is according to the standard of DIN45 635,the rule of land 26 at low echo mea-
sure laboratory,measuring that the distance of microphone is 1m and 1500rpm.

www.yeoshehydraulic.com




AR Series

Diagrams Y—EDEHE

Speed: 1800 r/min Hydraulic oil: ISO VG32 QOil temperature: 50°C

>

<
]
X AR22 @ 1800 RPM g g Noise level >
=100 t 3 80 Py
%) ] [ 5
= % vol. efficiency 2 s
9] —— 5 a
g 80 - T e S 40 N ?
° @ ~ 70 -,
> 70 s&\éé‘ W‘ T_T g )
E < E ———O——(
o 6074;0% 3 12 — full flow | <1 o
> M [ o———0f : 7)
2 501 ‘ 10 3 65— ° ° L o
é‘ 40 < 20 8 8 \"\ i =)
§ e | S ! | full cyt-off
S 30 RS 6 P . ©
® 5 S\ 10 a4 A 50 %
% 10 2 -O
0
0 4 8 12 16° 0 20
(40.8)  (81.6) (122)  (163) 0 4 8 12 16
—>» Pressure MPa(bar) (40.8) (81.6) (122) (163)
—» Pressure MPa(bar)
Input power s Case drain flows
10 s ~
E N=1800|rpm
. P=MPa(kgf/cm?) 3 full cut-off/;/
g P=14(143) % o ///
g . P=12(122) g g §N=1500"m
= P=10(102) 2
2 . P=8(81.6) 3
A — 1 p=6(61.2) Aos a&\ead/
\ | ___1P=440.8) s/ aes” —o®
| —1P=2(04) D oo | /5/00,'%
e P=1(10.2) o Wl - A
0
0 4 8 12 16
o 10 20 30 40 50 (40.8) (81.6) (122)  (163)
—» Output flow (1/min) —» Pressure MPa(bar)
Test condition:

The noise of the single pump is according to the standard of DIN45 635,the rule of land 26 at low echo mea-
sure laboratory,measuring that the distance of microphone is 1m and 1500rpm.

Copyright@2015-YEOSHE-ALL RIGHT RESERVED.



AR Series
AR Axial piston pump exploded view <§(§>

dwnd uoisid jeixy MV a

www.yeoshehydraulic.com




AR Series

AR Axial piston pump exploded view

YEOSHE

AR16,22 pump

Item ltem
1 [Pump body 31 | Sleeve piston
2 |Swashplate 32 | O-ring
3 | Shaft 34 | Ball guide
4 | Trunnion carrier 35 | Pin-cylinder block
5 |Body seal 36 | Slipper retainer
6 |Servo piston sleeve 37A | Piston shose
7 |Servo carrier 37 | Piston assembly
8 [Servo spring 38 | Cylinder block
9 [Pump cover 39 | Valve plate
10 |[Flow sleeve 40 |Snapring
11 |Flow pin 41 | Washer cylinder block
12 | Seal pin 42 | Spring-cylinder block
17 [Shaft bearing 43 | Circular sticker
18 [Snap ring 44 | Square sticker
19 [Cover bearing 45 | Nameplate
20 |Shaft seal 46 | Motor pin
21 | Cover screw 47 | Screw
22 |Snap ring 48 | Washer
23 |Screw 61 Flange
24 |[Plug 62 |[O-ring
25 |Key 63 | Plug
26 |[Roller 64 |Plug
27 |Pin-trunnion carrier 65 | Adaptor
29 |Nut 66 | Spindle
67 | Screw
68 [ O-ring

Copyright@2015-YEOSHE-ALL RIGHT RESERVED.

>

dwnd uojsid |eixy MV



AR Series

Dimension

AR16 / 22 01

Filling port

. " Luck nut
RC9/16"-18UNF  Drain port G3/8"(RC) MAX165.5 uck nut
Luck nut | MAX195 44.5 MAX100.5 Flow adj.Screw
> DEC. Flow adj.Screw f /68 6 e 4.7678% Q
Py Discharge port @ ‘ 25 ool =5 o3 INC.
RC3/4"(PT3/4") - RS
5| —| o <
;‘<> 2:M10x17 deep & _ﬁm d: o & B -
— r
Q 3
= © |
© § ] |
5' Suction port ©
=y ®19 Pressure gauge - ~
o commection P
> RC1/2'(PT1/2")
L o] 222 10 Outlet RC1/2" .
c 147 i Inlet RC3/4
3 130 S
o | 172
AR16/22 G
Filling port
RC9/16"-18UNF .
Drain port MAX151.25 chfjf pressure
" adjustment
Remote control G3/8"(RC) MAX86.25 (@Waming'
Q G1/4L&kPT1:4 — \_MAX195 44.5 Don't adjust )
uck nu /
Im -ED—;« DEC. Flow adj.Screw [PAL 5 = ED- ]
Discharge port ‘ 25 os| o5 oo o
RC3/4"(PT3/4") 3 ]| B 3
2-M10x17 deep ! » ol ol o i 4.76%% 02“ ©
61 AR K SN ! 3
o K |
~ 2 S I = i Xy e |
<
. I
z:;tlon port Pressure gauge L : N
commection [ !
292 RC1/2'(PT1/2") Outlet RC1/2"
: l. 10 106 Inlet RC3/4"
147 Q%\
170 130
AR16 / 22HL
Filling port Load sensing pressure
RC9/16"-18UNF adjustment
Remote control Drain port MAX151.25
G1/4 & PT1/4 G3/8"(RC MAX86.25 Hight pressure
\ adjustment
\ MAX195, 44.5
Luck nut / /
] _EDh DEC. Flow adj.Screw A8 6 ‘ED‘ ’_; // -
Discharge port ’ 25 os| s °$ ’/—lm )
- RC3/4"(PT3/4") 3 § S - P@
2-M10x17Deep A ol 5| & - i 4.76%8 oa8 0
ol ol [
< "’L . :
5T S Hiz-—1 X
I
Suction Port ®19 Pressure Gauge - : R
Commection P !
22.2 RC1Z(PT1/Z) 1o _OutletRC1/2" .
1 106 Inlet RC3/4
147 =)
130 2
172

www.yeoshehydraulic.com




AR Series

YEOSHE

Dimension

AR16 /22C

>

Low pressures

\ 267.8 44,5 )
2 Drain port RC3/8" (PT3/8") Mpmf(‘;: 5 adjustment
' Filling port RC9/16"-18UNF o High pressure
Low flow adjustment adjustment
P 68 /.6 >
High flow adjustment ‘ o e e A
& n 23 oj C’j C’u? INC.
i X =B %
o + - L olele] N ~
O — = T—m O,
Outlet /S | I 1 ; &
PT1/2"14/ o
=)
T - Outlet
4-M8x16 deep, | 175 ‘Lﬁ PT1/2"14 N -
124 147 (4-M8x16 ) & (4MT0x20 ) c
185 130 3
©
AR16 /22 CG
267,8 44,5 Drain port RC MAX.154,9 Low pressures
- 3/8" (PT3/8") MAX 89,9 adjustment
Filling port  — —_— High pressure
DEC. RC9/16"-18UNF Romo't'e pressure port : adjustment
Low flow adjustment P11/ Warning:
" ] A Don't adjust
igh flow adjustment 68 6 J . O
| I
| 25 og oé DE INC.
) +
QNP N = S B 4,76'3%
° uj» o —| &N| oo ~ [Ce]
a — L4 1 Slelsl N o)
© © L 8]7 = ey o
S| = ] —1
Outlet AL | | ©
PT1/2"14 /= - - ~
e i Qutlet
4-M8x16 deep 175 ~—l—£ PT1/2"-14 A} ||:r>1'||'e3$/ "
. 124 147 (4-M8x16) & ( 4-M10x-20 )
185

AR16 /22 CR

Solenoid control valves
Low pressures

OFF:Low tension unloading Filli rt RC9/16"-18UNF
ON:2-stage pressure o 0_ . o MAX.I\1/|5A‘;9899 adjustment
& flow control Drain port RC3/8" (PT3/8") : High pressure

O 267.8 [ 445 adjustment

DEC. o 4

Low Flow adjustment| )

Eé High flow ) ./ 68 6 - © w INC.
° -adjustment 1PN | »s oSogmg
o S ERE:
)| =al = .03@
© © IN 0 H 22
) N g R SN 7
1 N~
o) | e "
‘ SR T = i ]
hd
Outlet | ©|
PT1/2"14/ 7 A "
, 4-M8x16 dee Outlet
bl 17,5 J, 10 PT1/2"-14 \< a4
124 - & -
147 (4-M8x16 ) S (4-M10x20)
185

Copyright@2015-YEOSHE-ALL RIGHT RESERVED.



>
A
)
©
o
o
5
©
c
3
©

AR Series

Dimension

AR16 /22D

2225

AR16 /22 DG

445

Low pressures

2625

AR16 /22 E

2225

Solenoid control valves 2185 MAX154.9 djustment
—_— Drain port RC3/8" (PT3/8") MAX.89.9 adjustmen
Filling port RC9/16"-18UNF — High pressure
Q / adjustment
.68 6
DEC. O L4 9 e 8 3 O
Flow adjustment o 28 odles|es
P iy w| | v INC.
o o o 4768%
i 1 olel 8] ~ 8
(=] ™~ N
5  an i E—
Outlet »: \ | | ©
pri/2-14/ "
- Outlet
4-M8x16 deep, | 17.5 J, 10 PT1/2"-14 \ et .
147 (4-M8x16) 106 & oy
185 130
MAX 154 Low pressures
Solenoid control valves 2765 445 1549 adjustment
Filling port ~ — Drain port RC3/8" (PT3/8") MAX.89.9 High pressure
RC9/16"-18UNF Romote pressure port : adjustment
Q PT1/4" Warning:
Don't adjust
= Q10 g j
Flow adjustment ] 58 6 O
™ © 0|
1 25| odlos|ea INC
. o] 3| v 0,03 :
:’- o| < o 8
S 58| &
- ! ~
(=] ™~ |
| - o ~
LR |1 = = —
Outlet 7 1 L 2
PT1/2"-14 7+—
4-M8x16 d Outlet
X0 deep, 175 ‘L 10 PT1/2"14 Inlet
147 (4:M8x16) & (am10x20)
185
Low pressures
Solenoid control valves 2783 44.5 MAX154.9 adjuZtment
- Drain port RC3/8" (PT3/8") MAX89.9 :
Filling port RC9/16"-18UNF - High pressure
Q /_ adjustment
2l I’y .68 6
g e 8 2
Flow adjustment o 25 oclos|os NG
P . w| | v .
ol < +0.03
| sleldl o g
3 ‘—'l— 2 " <
FH— [1— = +— — 1
hd
Outlet 1 | ©
pT1/2"14 /A =
- Outlet
4-M8x16 deep 175 ‘L 10 BT 14 Inlet
' 4-M8x16 ) %\ PT3/4"14
147 ( & (4-M10x20 )
185 130

www.yeoshehydraulic.com




AR Series

Dimension YEOSHE
~

>

INC.

) 276,5 44,5
Solenoid control valves MAX154.9 Low pressures
il . . . MAX89.9 adustment
Filling port RC9/16"-18UNF Drain port RC3/8" (PT3/8") High pressure
Romote pressure port : adjustment
g O PT1/4 Warning: %
DEC. Don't adjust
Flow adjustment .68 6 ] __DI. . O y
- e 55 z
faunsal w| S| v +0.03 —
o N ENE =8 QO
& = i 1 olele] ~
3 ‘ N ©
® -~ =.
0| = = — &
Outlet AL © S
PT1/2"-14 # — ™~
©
Outlet
4-M8x16 deep . 175 ‘L 10 PT1/2"-14 Inlet C
147 (4-M8x16 ) o, \PT3/4"-14 3
130 S (4-M10x20) o
185
AR16 /22 F
267.8 44,5 Low pressures
MAX154.9 adjustment
Solenoid control valves Drain port RC3/8" (PT3/8") MAX89.9 —_—
EE—— Filling port RC9/16"-18UNF /—— High pressure
Low flow adjustment adjustment
_ ) \ .68 6
High flow adjustment S O -] © o o O
—~ \ o ‘ 28 Feclod i
P iy w| | v INC.
O H o o 003
2 . ! SE g
N ol 1} N
o “’-|7 40 -
1A | 1— == 1
Outlet /St | ©
PT1/2"-14 # — e ~
- Outlet
4-M8x16 deep 17,5 ‘L 10 PT1/2"-14 \g IFr’1_:_e§/ v14
' 4-M8x16 -
185147 ( ) 20 & T (4-M10x20 )
AR16/22 FG
267.8 44,5 MAX154.9 Low pressures
Filling port RC9/16"-18UNF i " " adjustment
Solenoid control valves fing p -] Drain port RC3/8" (PT3/8") MAX89.9 High pressure
Romote pressure port * adjustment
Low flow adjustment H PT1/4 Warning:
High flow adjustment 68, 5 ] .- Don't adjust
| o 552 Q
) DEC. 10| = AR 0.03 (g )
3N ~) o| «| o I
g S 388
or 1 N
o = LA -
A T 3= = —
hd
Outlet ©
PT1/2"-14 # = A ™
4-M8x16 deep, 175 ‘L 10 \ Inlet
T 4-M8x16 PT3/4"-14
147 (4-M8x16) > (4-M10x20)
185

Copyright@2015-YEOSHE-ALL RIGHT RESERVED.



>
Py
o
T,
7y
o
-]
e
c
3
S

AR Series

Dimension

AR16 /22 GM

MAX195 445, o NG6
Filling port 00 ¢ ¢
RC9/16"-18UNF b
Drain port 00+ < Diff pressure
G3/8"(RC) adjustment
Luck nut
O ) . 68 6 (@Warningf
h DEC. Flow adj.Screw o N ol el f Don't adjust )
I—: Discharge port o os| o8| oo f--—-———- z
! RC3/4"(PT3/4") 3l & 8 N
2-M10x17 deep ol z| ¢ | 4.764% | N
Bl /PR ] NN , >
! /\ ! © T I
1 = L o | . -1 - —_ _— - -
OGN |
Suction port A i ® Pressure gauge j N
?19 N I commection P |
N——" RC1/2"(PT1/2") .
22.2] 10  Outlet RC1/2" "
147 106 Inlet RC3/4
32,5325 T 130 %
120 | 172
AR16 /22 GJ
MAX195
443 Filling port 210
RC9/16"-18UNF
Drain port Diff
G3/8"(RC) iff pressure
|_| Luck nut adjustment
. 68 6  —
pDeEc. Flow adj.Screw o el W (@Warning:
Discharge port 29, o3| os| o3 3 Don't adjust )
P M107 RC3/4"(PT3/4") 3| | 8 “
- X eep | — o 4.76*8 %3
NS EEENE s
o ANz 1 L
N )x{ fl\/
2:&'0" Port ST ® Pressure gauge L R
9 N Py commection [
RC1/2"(PT1/2")
22.2 10 Outlet RC1/2" 106 et RC3/4"
nies
32.532.5 147 130 e%\
120 172
AR16 /22 GR
Drain port
G3/8"(RC)
MAX195 [ 44.5
Filling port
RC9/16"-18UNF
O Diff pressure
D Luck nut [I adjustment
Flow adj. © o8 6 -] L
h DEC. Screw b\ I ’ (@Warning:
I—; Discharge port 4 25, S| es o5 - = o @ Don'tadjust)
. RC3/4"(PT3/4") 8l & B == o &
2-M10x17 deep ol =] « | )
LR = hal B I : 4760
= 2 = i
of A i A NN = Gl % g 1
< N{ m\/ J 1
Suction port @ 5 T Pressure gauge H ©
®19 N I commection P |
vos N——" RC1/2"(PT1/2") Outiet RC1/2" —T—
: 10 106 Inlet RC3/4"
32.5032.5 147 130 XX
120 172

www.yeoshehydraulic.com




AR Series

Dimension

YEOSHE

AR16 /22 GB

Drain port
G3/8"(RC)
MAX195 44.5
Filling port
RC9/16"-18UNF
O Diff pressure
LUM adjustment
Flow adj. © 68 6 »
DEC. _Screw o o w / © (@Warning:
g\ 25 c,$ o5 o; d o Don't adjust )
w| | v RS
S| N ®
— ?2 E % ~ 4.76%9-03 -
J ’ N oy .76"8
0|
I — —
Pressure gauge f N
commection P
RC1/2'(PT1/2") Outlet RC1/2"
10 106 Inlet RC3/4"
147 o
32.532.5 130 O
120 | 172
AR16 /22 GC
Drain port
G3/8"(RC)
MAX195 [ 44.5
Filling port
RCQ/1 6"-18UNF = - Diff pressure
O adjustment
Luck nut
B:B:l <f> Flow adj © 68 6 (@Warning:
Dec Screw f / Don't adjust )
b\ 9 © w I
_, Discharge port & 25 os| o] oo ®
RC3/4"(PT3/4") 8l J 8 a°
o o <
~| | o 3
® Or M NI 4.76% %
2 -
] 3 1
<, N N\ T
| Y ) e
Suction port ® 9 Pressure gauge ™~
I ) g -5 i
222 19 _OutletRC1/2 o6 Inlet RC3/4"
147 (%)
32.932.5 130 N
120 172
AR16 /22 LN
Filling port Drain Port
RC9/16"-18UNF RC3/8" (PT3/8")
Luck nut MAX195 / 445
" I 68 6
pec. Flow Adj. Screw -
©,
Disch rt | 25l oFoe] o5
ischarge pol L +
‘dl RC3/4"(PT3/4") — 8 | 8 476708
2-M10x17deep () | g é § :
o U S ®
q A4 ) g 2
5 D) I = . — L 2
QS Y|\ D
$‘ ©
Suction port o G 1 - ~
ressure Gauge
#19 N A Commection 9 P
RC1/2" (PT1/2") . T
222] | 10 Outlet RC1/2 " \ Inlet RC3/4"
32,5 32,5 147 \&
532 130 &
120 | 172

Copyright@2015-YEOSHE-ALL RIGHT RESERVED.

>

dwnd uojsid |eixy MV



>
A
)
©
o
o
5
©
c
3
©

AR Series

Dimension

AR16/22LC

G:16/32 DP-13T

Filling port Drain port
RC9/16"-18UNF RC3/8" (PT3/8") MAX165.5 Luck nut
O Luck nut , MAX.195.5 / 44 5 MAX100,5] Pressure adj. screw
Flow adj. Scri \ /68 6
DEC. o © o
| VTt 592
Discharge port g 3| 9
2-M10x17 deepg RC3/4"(PT3/4") 388
ol 1 N~ N v
h 3 o 4
21 ! b "
5 e I
[\ J I}
Suction port 1 9 | | R
?19 N [
22,2 10  Outlet RC 1/2, \ "
147 (4-M8x14) Inlet RC 3/4
325|132 130 $
120 172
Flangé side T
P: PT1/2" D
" 4-M8xP1.25 g .
- Theard x 14 Deep' .
‘ 17.5:0.2
F504(Screw distance.TheardJ
AR Splined Shaft
-~ . Luck nut
Filling port Drain port
RC9/16"-18UNF RC3/8" (PT3/8") MAX165.5

Flow adj. Screw

) MAX195 41 .
Luck nut T16/32DP-0T MAX100.5
DEC. Flow adj. Screw [ 68 el
Discharge port ‘ °§. INC.
RC3/4"(PT3/4") g
Qq ha
2-M10x17Deep, q ® s
O 1
o ~ o
3 &
©
N L l
<,
Suction port Pressure gauge 1 T23 N
®19 commection
RC1/2"(PT1/2") P ‘ L3_5, .
22.2 ||“10  Outlet RC1/2 Inlet RC 3/4"
147
130
172
AR Thru drive
- Drain port
Filling port . "
RC9/16"-18UNF RC3/8" (PT3/8") MAX165.5
185.5 44,5 Flow adj. Screw
+0.03
/68 6 4760
- g 9 8
25 od|oo|ed INC.
g 3 9
o — [$Y]
9T DP 16/32 SNES k= ~
N~
4 &
ran Y I | l
A !
19 | |
1.5 1l 10 (aUtIIT/:sRé;/z" Inlet RC 3/4"
147 - M8x
2-M10xP1.5x16deep (4-M10x20 )

www.yeoshehydraulic.com




